.................

.............

.............................

a(d cot(B))

------------------------------------- 10

................................

3 -2 -1 0 1 2 3 3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

—=— DQM_TT__ORIGINAL

—— DQM_TT__MODIFIED_layerProcv2_PRVersion

~ 1= —~  1f
£ E: £ E
o -l (8]
S S
> ~
o]
O
o 2
) e}

10_1 F i
10K -

=3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

23 2 -1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


